- =LA O
k=1 Jof froy Fa =1 -||
1. o= I"A AD &= A 3. o 199 YA ABCD oA H E &= BC 9
AABC 9] FAolx Z#olth. AAGO =4cm? € W, JABCD 9] {ol=
AP = PQ = QD ©] P “Fotod et
th. AABC =30 & u,
APQC ©] Ho]=? Q AVD
- —C ‘
S LT N
B E C

® 5 @ 7 ® 9 @ 11 ® 13

a & cm?

2. g 199 WYPAWRY ABCD o4 BC =
8cm, DH = 6cm, CM = DM € w, DOCMP 2] 4
o]%? _
4. & T4 AM 2 A

AABC 9] FA4lo|11, A

G,G¢ = Z+Zt AABC

et AGBC 9] EAFA

olth. AG = 18cm ¥

Uﬂ, GG/ ‘9’1 QO]%Q B u‘ G M C

M

® 6cm? @ 8cm? ® 10cm?
@ 12cm? ® 14cm? @ 4cm @ 4.5cm ® 6cm

® 7cm ® 7.5cm




5. 472149 ABCOJA D, E= AB, BC $8o]11 CD = | 7. t2 1Ho|A ADE= AABC 9] $40]11 P &= AD
12cm ¥ W), GD o] do]|E L5}H? o] Z=Ho|tt. APBD =20 ¥ uj, AABC 2] Ho]&
sholat,
A
A
D ]
B E C
B
D C
@ 3cm @ 4cm ® 5cm
@ 6cm ® 8cm B e
6. THe 1894 AD+ AABC ¢ F4o|1 H E = AD
o] ZAoltt, ABDE 9] Hol7} 7em? & wf, AABC | 8. T ZHIA A G= AABC 9 FAIFACIthAD
9] wlol=? 42cm & wf), MG 9] o] 2 vtz A 13 AL9
A A
F E
B 5 C
B D C
® 6cm? @ 7cm? ® 8cm?
@ 1l4cm? @ 2lcm? @ 25cm? @ 9cm? ® 10cm?
@ 28cm? ® 35cm?




10.

e a8 H G,G & 272 AACD, ADBC 9]

BAZAolth AB = 15cm & W], GG 9] Hol=

sholat.

cm

o2 "M H G = A
AABC & FASA
G’ = AGBC 9] 2AFA0
t}. DG’ = 3em ¢ ©, AG
o] Aol & atofet

Mwj

L
—
o],

b}

@ 10cm @ 12cm ® 14cm

@ 16cm ® 18cm

.?_

11. o= "4 H G

= A
AABC 9] BAISAle|al, A
G’ & AGBC 9] A5 0]
t}. GG’ = 4DDem €
AD 9] Zol& Fstoiet,
GI
B D C
a = cm
12. I-A ZA =90° 2l 147“*7403 ABC 9] #AISA]

-1
< G etk AG =4em € o, BC

A
4e
G
B C
@ 6cm @ 8cm ® 10cm
® 12cm ® 16cm




13. o2 "4 H G AABCY FAFSAHCIH.

AGDE®] e 757

@ 17 @ 18

® 19

@ 20 ® 21

o] Tato] LERfIR?

® 2a

3
@ia ©3CL

ek
ot

N o lo O
ol
o
o

mlo

[
o
i)
N, i
Mo
o,
o,
>
2
rE
oflt
=
os}
(@)
)
1o
4
rE
us]
Q
aQ
)

A
N
>

tlo
TN

P, Q 2 gtk BD = 12cm € o, PQ 9

4
ol
-
i
D

e

@ 2cm

@ 2.5cm

@ 3cm

@ 4cm ® 5cm




